Day 8 - Reciprocal Functions per8-9.notebook

January 07, 2020

Homework 7-7

1. -3/5

2a.0.8 Db.-0.75,321.1°

4. -8/17,15/17, 331.9°

3. No. ex: sin(90) # sin(30) + sin(60), 1#1.366

Review/Unit 7 Test now Thursday/Friday
Day 1 of next Unit on Wednesday
A Castle Learning Unit 7 Review is available

Also there are 2 reviews at the end of your

packet. The first one is our in class review.

The 2nd/very last one is an extra review for
you.

Aug 13-8:03 PM

Algebra 2 Homework 7-7

Name: ¥ M/
Q

Period :

1. Given sin(e)-% and © is an obtuse angle less than 1 r

find the exact values of cos(8)
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2. Using the identity smz[e] +cos?(8) =1. if sin(8) is -0.6 and B is in Quadrant 1V,

a. Find cos(8) [ ) =2 g
a Q = GBCL
S0*BS teos (6) = j» QIT Cos(6d YO

(~ T reos™(6) = |
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b. Findtan(B) and m<e to the nearest tenth.

- Shle) _ *.(o ~
) = ey = —F ‘@
o« =t (75) = 52.‘1

© = 360 -328. ﬂ:

. Does sin(A+B) = sin(A) +sin(B)? Justify your answer by substituting numbers for A and B.
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Lo A =30" , B =60
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4. Iftan8=-8/15 and 270° <6<360°, find sin(8), cos(8) and m<g '\Zuﬁs*‘ *e"”"
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1 Day 8: Reciprocal Functions

Aug 9-4:56 PM

-
secant =¥ sec(B) = CDS&' where COS@#C
—_—

cosecant =@ csc(8) = 5_‘]: o where S840
/N

A\
cotangent=cot(g) = 5»-\9— where€a8-20

50\9' 0053"
remember: tan(B) = (oS cot(B) = st@G- A
Reciprocal functions have _ = & Sawa_ signs. ’:,’\ C f

Aug 9-4:57 PM



Day 8 - Reciprocal Functions per8-9.notebook

January 07, 2020

Reciprocal Function Examples:

5,
1. sin(A) =3/5, then csc(A] = /~3
l7-/
2. If tan(A) = 17/12, then cot(A) = (7
-4/
@G. If cos(A) =-6/9, then sec(A) = b
b. What guadrant(s) could angle ein? _Th— o~ T

4, 1If cos{A})g 0, which must always be true?
b. tan(A) >0 \ d. csclA) >0

-
—

c
5. Using the unit circle below, exploir@csc{@] =1/y.

/- S,—l\s':t_é‘:ﬂ
/
A Vo ]
(B sotes — oeonf
gy
Aug 9-4:57 PM

SQULETR

The value of a specific function can be found if you know:

Finding Trig Values:

a. coordinates of g point on the terminal side OR

b. another function value & quadrant in which the angle lies.

Note: r = radius of the circle (and hypotenuse), and the radius will always b@

- Pg:\"'\ Toples
3-4-S
S—1—13
§-15-\7
- 2Y-2S5

=

1. Find:
-]2/’_87 a r= 13
o {E}J‘—’i'
. sin(®)= 7
5 N .
¢ c. cos(8) T3
C-nes) d. tan(e) =
-5
[N

—=\3

e. csc(g) = <
- -3
f. sec(B) = ‘\‘5\

_——

Aug 9-4:58 PM
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(4,3
’ Sn ss@ e X cps

——

i Y -1
sin(@) = —‘2 cscl@)=_Y
r—/
S cos|(6) %_ sec(f) =& 33_5_:%'
4 tan(e) =22 cot(e)="S3—_
o) ('P‘»"'l) l .‘:"_“_‘_‘3—_3,
o0 ES)
o=4- -1b
a‘o’; 2 i
Aug 9-4:58 PM

2. ghd 6 is in Qu find csc(8). e -(:’.) =~ 37°
-4 e=(2) =353 - .
Sou B @ D) Cse& =03/ ‘cos"(%) =
-2_3 _ >
-3 s YTERES {CVB 2.
mcH= ’?”‘37“

{

3. Iféln[e] = - ind sec(8) = 0, determine the quadrant in which & lies, S—E-etch the
7’ —
tfriangle and fm(dﬁe remaining trig functions.

|

remaining trig functions.

Q/T-\ 15 sin(@) =

cos(f) =

b,.l'i
}5*1, ¥ —;@

sy

(‘o\-—@g‘ s
5. _Ifcot(6) =-1 and csc(B) =2, f

ORI €
4. Ifcos(B) = _? Gnd B lies in quodran@ke’rch the triangle and find the
-3/
7 csc(8)=

0 %L.(,b"-:c, tan(0)=_245_

712 sec(d) = s

cot(0)="_ /37
¥ _ & :_E.
G 17
_ L t—‘—:’]‘

[ -S> §

Aug 9-4:59 PM
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6. If the radius of a circle is 8"29 is in quadrant lll, and the x-coordinate of a point on

the terminal side of £6is -5, find the sin [B].

ﬁ_\/ Sme-= 7

e

N (- S;)_—bq—ls 39
%%

(H-)—Q
7. 1T the terminal side of #6 passes 1hroughl the point (4, -7), skefch the angle in
standard form and find all of the frig functions.

(54
'y

5,821 ES csct9~‘—:.—:7r§§
) A " F‘S s (e
< a)sg,_ = _E{S 5’6‘:9:”’622
5 s 85 .
RS Lamf= L e 8=
7 e
[ o =™
cr=w [ (35, c= /83 a Ay
cr=%5

Aug 9-4:59 PM

Application Word Problem:

A passenger boards a Ferrs wheel ride directly below the center. The wheel has ¢ radius of

|'s friend takes a picture of him when the wheel has rotatgd 230°_Lounterclockwise.
What is the straight-line distance of the man from his starting position when the picture was

taken, rounded to the nearest tenth?
‘ ‘@‘
° - 230

[+
= 130
o= 65°

Aug 9-4:59 PM
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